

Vyděl a za znaménko rovná se přetáhni správný výsledek. Výsledné slovo je sedmým kódem do únikové hry

$$\frac{3}{5} \div \frac{2}{3} =$$

$$-\frac{2}{3} \quad i$$

$$-\frac{2}{3} \div \frac{4}{5} =$$

$$-\frac{5}{4} \quad a$$

$$-\frac{3}{4} \div \left(-\frac{4}{5}\right) =$$

$$\frac{9}{10} \quad l$$

$$\frac{1}{2} \div \left(-\frac{3}{4}\right) =$$

$$\frac{15}{16} \quad n$$

$$\frac{8}{10} \div \frac{1}{3} =$$

$$-\frac{5}{6} \quad k$$

$$-\frac{1}{2} \div \frac{4}{10} =$$

$$\frac{12}{5} \quad m$$

$$\frac{2}{5} \div \left(-\frac{1}{3}\right) =$$

$$\frac{4}{5} \quad a$$

$$-\frac{2}{5} \div \left(-\frac{1}{2}\right) =$$

$$-\frac{6}{5} \quad y$$